

**Service and Expense Detail**

[Blue/White] 2004 Peterbuilt 379 (Blue/White)			1XP-5D49X-2-5N840260			
Date	Odometer	Item	Notes			
5/15/2025	613,222.0	Change engine oil and filter	15W40			
		Type	Description	Quantity	Unit Price	Amount
		Materials	Engine oil diamond (15W40)	46	\$4.10	\$188.60
		Parts	Oil filter (LF14000NN)	1	\$54.59	\$54.59
					Sub Total:	\$243.19
5/15/2025	613,222.0	Changed oil in diffs	75W90			
		Type	Description	Quantity	Unit Price	Amount
		Materials	Gear Oil (75W90)	17	\$8.78	\$149.26
		Materials	Gear Oil (75W90)	15	\$8.78	\$131.70
					Sub Total:	\$280.96
5/15/2025	613,222.0	Changed oil in trans	75W90			
		Type	Description	Quantity	Unit Price	Amount
		Materials	Gear Oil (75W90)	22	\$8.78	\$193.16
					Sub Total:	\$193.16
5/16/2025	613,222.0	Repair	New shroud			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Radiator Shroud 32" (07-06680M002)	1	\$1550.79	\$1550.79
					Sub Total:	\$1550.79
5/21/2025	613,222.0	Repair	Rear rear right axle shaft Rear rear eye spring pivot and bushings on both sides			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Axle Shaft Rear R R (128435)	1	\$250.00	\$250.00
		Parts	Eye spring pivot (03-05117)	2	\$503.60	\$1007.20

**Service and Expense Detail**

[Blue/White] 2004 Peterbuilt 379 (Blue/White)		1XP-5D49X-2-5N840260				
Date	Odometer	Item	Notes	Quantity	Unit Price	Amount
		Type	Description			
		Parts	Kit bushing (03AL2)	2	\$161.94	\$323.88
		Parts	U bolt kit (UBK34-3550)	2	\$44.63	\$89.26
Sub Total:						\$1670.34
5/21/2025	613,222.0	Repair	Rear drive shaft rear Ujoint			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Cross joint (SP5675X (1710))	1	\$87.88	\$87.88
Sub Total:						\$87.88
6/4/2025	617,764.0	Repair	Upper timing cover seal			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Timing gear cover seal (4962721)	1	\$59.88	\$59.88
Sub Total:						\$59.88
6/12/2025	619,222.0	Repair	Rear R axle Brakes and shoes			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Brake Drum (36BD00AB)	2	\$154.68	\$309.36
		Parts	Brake Shoe Kit (KEG24709E2)	2	\$61.95	\$123.90
Sub Total:						\$433.26
6/12/2025	619,222.0	Changed drive tires	All rear drive tires			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Tire (RT365 16 Ply 11R22.5)	8	\$250.00	\$2000.00
Sub Total:						\$2000.00
6/16/2025	619,222.0	Improvements	Rear Fenders			

**Service and Expense Detail**

[Blue/White] 2004 Peterbuilt 379 (Blue/White)			1XP-5D49X-2-5N840260			
Date	Odometer	Item	Notes			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Fenders XL set of 4 with hardware (Classic 29" )	1	\$1600.00	\$1600.00
					Sub Total:	\$1600.00
8/9/2025	627,609.0	Change engine oil and filter	15W40			
		Parts	Oil filter (LF14000NN)	1	\$54.59	\$54.59
					Sub Total:	\$54.59
8/9/2025	627,609.0	Changed fuel filters				
		Parts	Fuel filter (FF2203)	1	\$22.86	\$22.86
					Sub Total:	\$22.86
8/16/2025	627,709.0	Repair	Change torsion rods			
		Parts	Torque rod (TQRAA1-649)	2	\$184.54	\$369.08
					Sub Total:	\$369.08
9/23/2025	635,982.0	Change engine oil and filter	4239 Hours Replaced cylinder head & injectors all injectors failed full load test & cylinder head cups were cavatated blown out o rings on injector 6 & 5 had a bad fuel knock			
		Parts	Cylinder head ISX new aftermarket (N4101420AVS)	1	\$4785.00	\$4785.00
		Parts	Gasket set upper ISX 570 (4352144)	1	\$734.83	\$734.83
		Parts	Injector (4062568)	6	\$878.88	\$5273.28
					Sub Total:	\$10793.11

### Service and Expense Detail

[Blue/White] 2004 Peterbuilt 379 (Blue/White)			1XP-5D49X-2-5N840260			
Date	Odometer	Item	Notes			
11/26/2025	636,012.0	Change engine oil and filter				
		Type	Description	Quantity	Unit Price	Amount
		Materials	Engine oil diamond (15W40)	46	\$4.10	\$188.60
		Parts	Oil filter (BD50000)	1	\$55.70	\$55.70
						Sub Total: \$244.30
12/18/2025	636,012.0	Repair	Truck went for inspection came back with complaint steading bearing has lots of play.. frount bumper LHS light not working.. Steer axel LHS ABS sensor wire			
		Type	Description	Quantity	Unit Price	Amount
		Parts	Steady Bearing (10094142)	1	\$134.86	\$134.86
						Sub Total: \$134.86
						Vehicle Total: \$19738.26
						Grand Total: \$19738.26